~ Inter (Part-l) 2017
Mathematics e Glrouptll PAPER: |
Time: 30 Minutes| (OBJECTIVE TYPE) | Marks: 20

Note: Four possible answers, A, B, C-and D to each question =
are given. The choice which you think is correct, fill that
circle in front of that question with Marker orPeninkin .
the answer-book. :Cutting or fi llling two or more circles -
will result in zero mark in that questlon '

1-1-  If the nth term of an AP is > 2 (3 — n), then f'rst three-' L

' terms are: b
(a) 3.2 _ (b)-1 2 <2 =3y ."' ;
2- Radius of escribed circle OppOSIte to vertex A is
' equa[ to
S ik - A
@s - () fray
. : A ..
(©) S—C .
3- An equation containing at Ieast one trigonometric A

function is called:
(a) Algebraic equation
" (b) Quadratic equation
(c) Linear equation
(d) Trigonometric equation v

- 4- If a functionf: A > Bis such that Range f= B then
fis called: -
(a) Injective = (b) Surjective v .
(c) Into (d) Periodic
. 2
5- The fraption % ;1x1+ 3 is:-
(a) Improper v > (b) Proper .
(c) Equivalent (d) Identity

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

| S—-—

%]

10-

-

12-

13-

16-

"G, I oqual to:

(“) n 1? “}) "U“ ‘/

(¢) "G, (@ "C,,,

Tho Invarae of a square matrix exlets If A la:
(n) Singular (b) -Non-singular v
(c) Symmeliic (d) Rectangular
Tho domaln of con x Iu:

() [0, 1) (b) Ot Vv

(c) [-1,1] (d) (-1, 0]

cos (soc' 1) Is equal to;

(@) 1V (b) 0

(c) 30° (d) 2

Tho point of Intersoction of tho angular bisoctors of
a trlangle Is called:

(a) Circum contre  (b) Orthocentra

(¢) In-contra v (d) Centrald
80C {}___I e
conng )" T AR ‘
(@) cos 0 (b) tan 0 v
(c) cot0 (d) sin0
- One root of the equation x* ~ 3x + a =0 Is 2, thon a
Is:
(a) -2 (b) 2 V
(c) 3 (d) -3
ﬂpr
i is equal to:
(a) "C, v (b) "C,.,

(C) nncr (d) n 10'

|a + bl| Is equal to:

(a) \Ja? +b? ¥ (b) \a? - b?
(c) \J-a? - b? (d) \/b? - a?

Geomaotric mean betwoen 4 and 16 |s:
(a) + 4 (b) + 8V
(c) +16 (d) 1 04
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The number of terms in the expans
is: |
(a) 2 (b) 7°

(c) 8V (d) 12
A quadratic equation has degree:
(a) One (b) Two v
(c) Three (d) Four
tan (r — a) is equal to:
(a) tan a : (b) -tan 6
(c) tana vV (d) cota
If A and B are matrices, then (AB)!is
(a) Bt. Al Y (b) At.B!
(c) AB , ... (d) BA
The expansion of (1.+ 2x)1is valid if:
(a) x| <-;- v () X> %
(c) |x| <1 (d) x| <2

ion of (x2 - 1)7

e-qual- ttE}.‘
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